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(1) H,+ 0,—> HO
(2) N,+ H,— NH;
(3) Na+ HO0—> NaOH+ H,
@4) K+ CL— KCl
(5) HO0 —> H+ O,
6) SO,+ 0,—> SO
(7) CHs+ O,—*> H,0+ CO;
(8) LiO+ HO—>  LiOH
9 HO0, —>= HO0+ O,
(10) NO,+ O0,+ H0——  HNO;
(11) P,0,+ HO —> HPO,

Ergéinze die richtigen Koeffizienten.

Der Koeffizient 1 kann auch weggelassen werden.

Also z.B. [ 1]H;0 oder __JH:O.
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"tanva" is marked with CCO 1.0
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*¥2¥H2 +*1* 02 --> *2* H20
*1* N2 + *3* H2 -->*2* NH3

*2* Na + *2* H20 --> *2* NaOH + *1* H2

*FK +*1*Cl2  --> *2* KCl
*2* H20 --> *2%¥ H2 + *1* 02
*2+ 502 + *1* 02 --> *2* 503

*1* CH4 + *2* 02 --> *2* H20 + *1* CO2

*1* L2i0 + *1* H20 --> *2* LiOH

*2* H202 --> ¥2* H20 + *1* 02
*4* NO2 + *1* 02 + *2* H20 --> *4* HNO3
*1* P4010 + *6* H20 --> *4* H3PO4
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